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QUESTION 1

Refer to the exhibit 

shell:domains = domain / Role1 | Role2 | Role3 / Role4 | Role5 | Role6 

In the Cisco AV Pair, which two options are correct? (Choose two.) 

A. Role1 = Read 

B. Role2 = Read 

C. Role5 = Write 

D. Role2 = Write 

E. Role6 = Write 

F. Role1 = Write 

Correct Answer: AE 

 

QUESTION 2

Which messaging protocol is used by the vPC peers to communicate with each other? 

A. LLDP 

B. CFS 

C. ZMQ 

D. VPCT 

Correct Answer: D 

 

QUESTION 3

Refer to the exhibit Which IP address is displayed? 
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A. infrastructure IP 

B. out-of-band IP 

C. management IP 

D. in-band IP 

Correct Answer: D 

 

QUESTION 4

Which MO name represents a physical domain? 

A. RtDomP 

B. PhysDomP 

C. physDomP 

D. InfraRtDomP 

Correct Answer: C 

 

QUESTION 5

Which three statements about fitter and contract are true? (Choose three.) 

A. A contract can be consumed and provided by as many EPGs as are needed by the network design. 

B. A fitter can be used by multiple contracts. 

C. A fitter contains groups of IP subnet 

D. A contract can be consumed by a single EPG 

E. A contract can be provided by a single EPG 

F. A filter contains EtherType, IP protocol, TCP flags, and Layer 4 ports. 

500-601 VCE Dumps | 500-601 Exam Questions | 500-601 Braindumps                                3 / 4

https://www.passapply.com/500-601.html
https://www.passapply.com/500-601.html
https://www.passapply.com/500-601.html


https://www.passapply.com/500-601.html
2024 Latest passapply 500-601 PDF and VCE dumps Download

Correct Answer: ABF 
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